
 
 

#802410 Ford I-6 200/250  P/S Pump Bracket 
 

Installation: 
 

1) Attach the bracket to the driver’s side mounting pad on the engine block with the two 5/16” bolts and 

washers. 
 

2) Attach the P/S pump to the front of the bracket with either the 3/8” or M10 bolts depending on the P/S 

pump you are using. 
 

                                        Top 
 

 

 

Borgeson Universal Co., Inc. 

9 Krieger Dr. Travelers Rest, SC 29690 

www.borgeson.com 
9/4/15 

 

 
 

 

 

 
 

#802410 Ford I-6 200/250  P/S Pump Bracket 
 

Installation: 
 

3) Attach the bracket to the drivers side mounting pad on the engine block with the two 5/16” bolts and 

washers. 
 

4) Attach the P/S pump to the front of the bracket with either the 3/8” or M10 bolts depending on the P/S 

pump you are using. 
 

                                        Top 
 

 

 

Borgeson Universal Co., Inc. 

9 Krieger Dr. Travelers Rest, SC 29690 

www.borgeson.com 
9/4/15 

 


